H £ 0l & AF & S

20243 =0llah LB F=AEH

Al A

A FAEHI
B ek F|
cfell FEEHl ANY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
FHEBI 3,800,620 1,581,943 2,218,677
FHed gl 3,703,903 1,467,428 2,236,475
TEIEH AMY 3,703,903 1,467,428 2,236,475
SHIAYE SSAE 36,800 29,200 7,600
201 fer= 3| 34,300 26,700 7,600
01 At 2|l 34,300 26,700 7,600
N2 ISR 2 =%
00,0002 *7&x102] 7,000
NSEae SSAY3 2 =¥
100,000& x20F +43] 8,000
NEIIM =2 100,000& #2A12++ 142 2,800
NHASFES HEN AS
8,250,000 +22] 16,500
203 g4l 2,500 2,500
03 A=A R =] 2,500 2,500
NEHIANY SSAY RFD
2,500,000& 2,500
FELTHOHE ALY 1,921,436 1,009,555 911,881
201 fer23y| 11,944 4,868 7,076
01 AtR2t2|HI 9,864 820 9,044
DHAEIRARS] 21 ¢
167,000 7 & *43] 4,676
IHOHE ==21stm o 2be 3] JHE 1,156
2) =0 M 82,0002 x2 2 +43 656
MY 25 oM 20,0003 »253] 500
NSAE Ny A 20t =<
336,000 x32H *43] 4,032
2 Ss52g4l 2,080 4,048 1,968
st 1,300& *1,6002 2,080
203 HR=H] 2,100 2,100
03 A=A R =AH] 2,100 2,100
1FETHLEAIY RFX
2,100,000& 2,100
308 AtAIEMSOIE 7,392 2,000 5,3%2
183 S| 2SO ZB XA AIE 7,392 2,000 5,392
NeE230= 1,232,000 274 At=32] 7,392
401 AIEHIZ SR OHYI 1,900,000 1,000,000 900,000
01 Al&HI 1,900,000 1,000,000 900,000
DI e ~8 29 1,900,000
2)4l7 TWHY &8 XA
1,000,000,000& 1,000,000
2)0I0t=258 - 1S 148 A& =8 9
900,000,000 900,000
FEIHAS A 1,418,035 7,665 1,410,370




2A:

F=HEHI14

B ek F|
cfell FEEHl ANY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 6,235 5,865 370
01 At2teltl 6,235 5,865 370
DRIGLABIIPIRE 12 25
167,000 7 & »23] 2,338
NHAS LA X AL ¢
433,000 *3E « 1L x3H & 3,897
203 gF=4| 1,800 1,800
03 A=A 2= 1,800 1,800
NEENEEINSREEESS
1,800,000 1,800
401 AlEHIZ 2018 1,080,000 1,080,000
01 Al&H| 1,080,000 1,080,000
NHA= oA HEY HE
80,000,000 80,000
DS YA 22 8
1,000,000,000& 1,000,000
501 A= 330,000 330,000
01 2ItEX=2 330,000 330,000
DIHAS QHHE B SIA
330,000,000& 330,000
MBS XA 11,854 6,860 4,994
201 er2 3| 7,590 5,060 2,530
02 S3=gHl 7,590 5,060 2,530
ISR 2,530 +3,0004 7,590
203 =] 1,800 1,800
03 A=A 2= 1,800 1,800
DHZHISTTPAIY AR5
1,800,000 1,800
308 XXM SOIA 2,464 2,464
18 SIS0t oA AS A 2,464 2,464
NAEBNE 1,232,000 =200 At 2,464
2 =EEHIALE 315,778 414,148 /98,370
201 fet= 3| 13,778 12,148 1,630
01 AtR2te|H] 11,248 12,148 A900
NEZAHED E &2t 3l9f &4 ¢
167,0002 28 *123] 4,008
N2gsl, 493 S 28 23 20l
20,000& * 137 =22 520
NARDTAE SHEEY B2 4
336,000 * 1 +5I1 A +43] 6,720
02 S3=gHl 2,530 0 2,530
ISR 2,530& *1,0004 2,530
203 gF=4| 2,000 2,000
03 A=A 2= 2,000 2,000




2A:

F=HEHI14

mE: E)HH Zy|
cfell FEEHl ANY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
BEEEEICIEEES:
2,000,000& 2,000
401 AlEHIZ S 0HbI 300,000 400,000 100,000
01 AlZH| 300,000 400,000 100,000
NEACIHE(L0IEHR) =8 2
100,000,000 *3IH 2 300,000
Y =S ZH 96,717 114,515 A17,798
JI23HI(FAHEH D) 96,717 114,515 A7,798
JIE 3 (FHFHI) 9,717 114,515 17,798
201 er2 3| 43,125 44,109 NOB4
01 AtR2te|HI 43,125 44,109 A984
NEHAANRSEH 6,837
INRESHI 10,0002 %21 *43] 840
2)EMB2ARL 40,0003 x42¢ Xt 160
ANZSE 1203 %5,0000H 600
AREONE==ES 30&*12,0000H 360
2)28D| EHEY 121,000 *3H 363
2)28D| Z2HEU 198,000 *348x33] 1,782
=80 =4 264,000& 4 28x23] 2,112
= A2 55,0003 *4H 220
2)=80 sXze 100,000 *1CH*4=] 400
NJI2geFa S|
8,000 x21&*x204! 12 x90% 36,288
202 04| 49,392 66,206 16,814
01 2LHoIH 49,392 66,206 A 16,814
NJl2geF=a ol
20,0003 x21H*14L %123 +70% 49,392
203 HR=AH] 4,200 4,200
M A2 LIFAI 4,200 4,200
1)2521 Olt 350,000 x 12 4,200




